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Cluster: 0088 ptr; resid: 0.33; r/c: 37/67

x.range

upstream meme PSSM #1; e=0.011

1 3 5 7 91 3 5 7 9

x.range

y.
ra
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e

upstream meme PSSM #2; e=1.8e+04

1 3 5 7 9 111 3 5 7 9
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40695−0.26
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48941−0.70
13233−0.80
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19518−0.89
38633−1.17
45867−1.22
44968−1.36
16540−1.45
49336−1.53
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34531−2.24
46768−2.28
45186−2.32
47188−2.47
50481−2.54

8167−2.55
22315−2.82
48309−2.89
38632−2.89
44704−3.06
49097−3.21
31925−3.23
47335−3.66
43896−3.70
54435−3.90
31436−4.45

log10(P) upstream meme1 2 log10(P.clust)=−1.80; 37 seqs; 37 uniq
c(0.5, 2.5)
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